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Test Conditions

Min.

Symbol Parameter

VIN=T7.5V

Conditions

I/0O Port output high )

VoH No loading 5 - V
voltage
I/0O Port output low )

VoL No loading 0 - V
voltage
I/0O Port Sink

loL Vl0ad=0.1VoH 10 20 - mA
Current
I/O Port Source

loH V10ad=0.9VoH -5 -10 - mA
Current

Z= 1: ServoRunnerA fE4HEE i [E ] (Test Temperature=25°C)
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SetPos (uint8_t SerlD, uint16_t Pos)

A SerID f5EFTE R ERY (AR - 55 A

SetPosAndRun(uint8_t SerlID, uint16_t
Pos)
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SetPosSpd(uint8_t SerID, uintl6_t Pos,
uintl6_t Spd)
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SetPosSpdAndRun(uint8_t SerlD,
uintl6_t Pos, uint1l6_t Spd)
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SetPosTime(uint8_t SerlID, uint16_t Pos,

uintl6_t Time)
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SetPosTimeAndRun(uint8_t SerlD,
uintl6 _t Pos, uintl6_t Time)

499~2500  [HIAVEEEE » I H e E fEk
PR Z DS E 2 > 1€ Time FrasEfIiF
MIEZEHE ENLE > #5aE Time RITTZIG
YEENIE(Time 551 A 0~65535 7 [HIHYFLH;
{8 > Time 3% By 0 R g DA% 5 > Time
HYEEAL R P[ms] » (NS E R AT
{EIHR IR DL 22 2 4 )

ERPREENE R E S

Runl1Servo(uint8_t SerlID)
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Run2Servo(uint8_t SerlID, uint8_t SerlD1)

Run3Servo(uint8_t SerlD, uint8_t SerlD1,
uint8_t SerlD2)

Run4Servo(uint8_t SerlD, uint8_t SerlD1,
uint8_t SerlD2, uint8_t SerID3)

Run5Servo(uint8_t SerlID, uint8_t SerID1,
uint8_t SeriD2
, uint8_t SerID3, uint8_t SerlD4)

Run6Servo(uint8_t SerlID, uint8 _t SerID1,
uint8_t SeriD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerlD5)

Run7Servo(uint8_t SerlID, uint8 _t SerID1,
uint8_t SeriD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6)

Run8Servo(uint8_t SerlID, uint8_t SerlD1,
uint8_t SeriD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerlID5, uint8_t SerlD6, uint8_t SerlD7)

Run9Servo(uint8_t SerlD, uint8 t SerlD1,
uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6
, uint8_t SerID7, uint8_t SerlD8)

Run10Servo(uint8_t SerID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6
, uint8_t SerID7, uint8_t SerlD8, uint8_t
SerlD9)

Runl11Servo(uint8 t SerlD, uint8 t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerlID5, uint8_t SerlD6
, uint8_t SerlD7, uint8_t SerID8, uint8 _t
SerlD9, uint8_t SerlD10)

Run12Servo(uint8_t SerID, uint8_t
SerID1, uint8_t SerID2
uint8_t SerID3, uint8_t SerlD4, uint8_t
SerlID5, uint8_t SerlD6
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, uint8_t SerlD7, uint8_t SerID8, uint8 _t
SerID9, uint8_t SerlD10)

Run13Servo(uint8_t SerID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6
, uint8_t SerID7, uint8_t SerlD8, uint8_t
SerID9, uint8_t SerlD10
uint8_t SerlD11, uint8 t SerlD12)

Runl4Servo(uint8_t SerID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t

SerID5, uint8_t SerlD6

, uint8_t SerID7, uint8_t SerlD8, uint8_t
SerID9, uint8_t SerlD10

uint8 _t SerID11, uint8 t SerlD12, uint8_t

SerID13)

Run15Servo(uint8_t SerID, uint8_t

SerID1, uint8_t SerlD2

uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6

, uint8_t SerlD7, uint8_t SerID8, uint8 _t
SerID9, uint8_t SerlD10

uint8_t SerlD11, uint8 t SerID12, uint8_t

SerID13, uint8_t SerlD14)

RunAllIServo(void)
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PauselServo(uint8_t SerID)

Pause2Servo(uint8_t SerlID, uint8_t
SeriD1)

Pause3Servo(uint8_t SerlID, uint8_t
SerID1, uint8_t SerlD2)

Pause4Servo(uint8_t SerlID, uint8_t
SerID1, uint8_t SerlD2, uint8_t SerlD3)

Pause5Servo(uint8_t SerlID, uint8_t
SerID1, uint8_t SerlD2
, uint8_t SerID3, uint8_t SerlD4)

Pause6Servo(uint8_t SerlID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5)
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Pause7Servo(uint8_t SerlID, uint8_t
SerlD1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6)

Pause8Servo(uint8_t SerlID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6, uint8_t SerlD7)

Pause9Servo(uint8_t SerlID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6
, uint8_t SerID7, uint8_t SerlD8)

Pausel0Servo(uint8_t SerID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6
, uint8_t SerlD7, uint8_t SerID8, uint8 _t
SerlD9)

PausellServo(uint8_t SerlID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6
, uint8_t SerlD7, uint8_t SerID8, uint8 _t
SerID9, uint8_t SerlD10)

Pausel2Servo(uint8_t SerID, uint8 _t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerlID5, uint8_t SerlD6
, uint8_t SerlD7, uint8_t SerID8, uint8 _t
SerID9, uint8_t SerlD10)

Pausel3Servo(uint8_t SerID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerlID5, uint8_t SerlD6
, uint8_t SerlD7, uint8_t SerID8, uint8 _t
SerID9, uint8_t SerlD10
uint8_t SerID11, uint8_t SerID12)

Pausel4Servo(uint8_t SerlID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerID3, uint8_t SerlD4, uint8_t




SerlID5, uint8_t SerlD6
, uint8_t SerlD7, uint8_t SerID8, uint8 _t
SerlD9, uint8_t SerlD10
uint8 _t SerID11, uint8 t SerID12, uint8_t
SerID13)

Pausel5Servo(uint8_t SerlD, uint8 _t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t

SerID5, uint8_t SerlD6

, uint8_t SerID7, uint8_t SerlD8, uint8_t
SerID9, uint8_t SerlD10

uint8_t SerID11, uint8 t SerID12, uint8_t

SerID13, uint8_t SerlD14)

PauseAllServo(void)

StoplServo(uint8_t SerlID)

Stop2Servo(uint8_t SerlD, uint8_t SerlD1)

Stop3Servo(uint8_t SerlID, uint8_t SerlD1,
uint8_t SerlD2)

Stop4Servo(uint8_t SerlID, uint8_t SerlD1,
uint8_t SerlD2, uint8_t SerID3)

Stop5Servo(uint8_t SerlID, uint8_t SerlD1,
uint8_t SerlD2
, uint8_t SerlD3, uint8_t SerlD4)

Stop6Servo(uint8_t SerlID, uint8_t SerlD1,
uint8_t SeriD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5)

Stop7Servo(uint8_t SerlID, uint8_t SerlD1,
uint8_t SeriD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6)

Stop8Servo(uint8_t SerlID, uint8_t SerlD1,
uint8_t SeriD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerlID5, uint8_t SerID6, uint8_t SerlD7)

Stop9Servo(uint8_t SerlID, uint8_t SerlD1,
uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerlID5, uint8_t SerlD6
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, uint8_t SerID7, uint8_t SerlD8)

Stop10Servo(uint8_t SerID, uint8_t
SerlD1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6
, uint8_t SerID7, uint8_t SerlD8, uint8_t
SerlD9)

Stop11Servo(uint8_t SerlD, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6
, uint8_t SerID7, uint8_t SerlD8, uint8_t
SerID9, uint8_t SerlD10)

Stop12Servo(uint8_t SerlID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerID5, uint8_t SerlD6
, uint8_t SerlD7, uint8_t SerID8, uint8 _t
SerID9, uint8_t SerID10)

Stop13Servo(uint8_t SerID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerlID5, uint8_t SerlD6
, uint8_t SerlD7, uint8_t SerID8, uint8 _t
SerlD9, uint8_t SerlD10
uint8_t SerID11, uint8_t SerID12)

Stopl4Servo(uint8_t SerlID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t

SerlID5, uint8_t SerlD6

, uint8_t SerlD7, uint8_t SerID8, uint8 _t
SerID9, uint8_t SerlD10

uint8_t SerlD11, uint8 t SerID12, uint8_t

SerID13)

Stop15Servo(uint8_t SerlID, uint8_t
SerID1, uint8_t SerlD2
uint8_t SerlD3, uint8_t SerlD4, uint8_t
SerlID5, uint8_t SerlD6
, uint8_t SerlD7, uint8_t SerID8, uint8 t
SerID9, uint8_t SerlD10
uint8_t SerID11, uint8 t SerID12, uint8_t




SerID13, uint8_t SerID14)

StopAllServo(void)
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LoadFrame(FramelD)
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LoadOffset()
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SaveFrame(FramelD)
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SaveOffset()
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SetPosOffset(SerID, Offset)
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#include ""arminno.h™

I EEpRE R E R B D S B R S ERCE

I ERRIEA R IR PT EA B GREE - DI IR BR
RS O

ServoRunnerA mySer(0); I

uint8_ti;

uint8_t SerStatus;

int main(void)

{
mySer.SetPosOffset(0, 0);
mySer.SetPosAndRun(0, 1500);

Pause(10000);

mySer.SetPos(0, 2200);
mySer.SaveFrame(0);
mySer.Run1Servo(0);

Pause (5000);

mySer.SetPosSpdAndRun(0, 700, 1000);

Pause (20000);
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mySer.SetPosTimeAndRun(0, 2200, 1000); I

Pause (10000);

BB) Servo0 fE—RPRVHFRHIEIZ] 2200 HYr E

T EHVERE R Frame0 B Framel IR E(E » FBE) Servo0 1T

Frame0 20L& & 2200 - Framel fEEHIfrE S 700

ServoO #EE R Ef BRIZREL BHIUXK

for(i=0;i<4;i++)

{
mySer.LoadFrame(1); 1
mySer.Run1Servo(0);
Pause (10000);
mySer.LoadFrame(0); 1
mySer.Run1Servo(0);
Pause (10000);

}

mySer.SetPosAndRun(0, 1500);

Pause (20000);
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